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Principles of Algebra Name/Date cl@@/ (06{0\‘/

ALL PROBLEMS CAN BE COMPLETED ON THIS WORKSHEET
WS 9B.1 - Solving Systems of Equations by Substitution

#1-7, Solve each system of equations by the substitution method.

1. {,;1;:_-_*-3‘_;;17 o?x-f\/:?' \/:’)(4.]
x +(x+1)= 7 VAl
A + X+ | =23 \1:3 The solu{’l'bﬂ
3x+ | =% is (2,3).
3x =6
= a
2y—x=6 -
2.{_ Ay =X =b X=Y-3
x=y-—-3
2y -(y-3)=6  x=3-3
’?\/"Y +3:206 x =0 The selvtion
V+3 =6 is (0,3).
y =3
3. {4"_3’:0 —> Hx-y:0 [Ax -6y =24 V= Yo
12x — 6y = 24

~y=sdx -6(4x) =24 y=y(-2)

yrix  Px-x=20 . g
N -12x =AY v
/;(:"2 T he solohion
is ("”?1-‘5)-
2x—5y=_—28 2%—5}' =-2% x=1-5y
{3x+15y_3 —'937(*'5\/—3 ;2([-57,)-5)/:-2‘5 X = 1“5(2)

37‘:3';5‘/ 2-10y <5y =-28  x=1-10
x=l7oy - 15y =-9% x = -

~18Y =730 |Thy solutron
Y =2 s (-9,2).




5. {2x=4y——§2'x-:qy ?'thx/:—%
7x +2y = -8

-] =2
= 3@y =-3  x=2(3)
4y + Ay = =¥ xz -]

loy = -%
(9\(___1_ T‘\Q Solu'h.oﬂ
Yo 2 is (-1,-%).
4y =8x—12
{Zi—y=—5 —» Ax~y=-5 4y =%« -1
-y =z -3x-§ q(ax+5)=Fx-[2
Y=2x+5 Gx 5 = Fx-11
5 ¢+ ~I2
This system has no ssluteon,
(These lines ace parallel)
R P —> "~y =5 [Qx +3y = -15
12x+ 3y = —-15 -\{':‘{'x +5
|2x + 3(-4x-5)=-15
Y25 x5 = -15
-15 =-I35

Infinitely many golutions. Al points oa = ~Hx =5 aue solutions to the system.

(These two lines are the same line.)

8. Mando has three times as many quarters as dimes. If the sum of the number of dimes and twice the number of quarters
is 21, how many of each type of coin does he have?

let d = Numper of dimes
lek 4, = number of quarters
_ d +2g =21 0,° 34
i_.__gé /(:(+2(5A):2l %:3(5} MAﬂ.AO hAS
d#Qo‘:&l d +6d =21 - 2 dimes and
H =21 4° 4 poarters.

d:=3




